
Aire et Périmètre des Trapèzes (B)

Calculez le périmètre et l’aire de chaque trapèze.
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Aire et Périmètre des Trapèzes (B) Réponses

Calculez le périmètre et l’aire de chaque trapèze.

1. 9,6 dm
23
,1

d
m

20 dm

23,1
d
m

2
1
d
m

P = 75,8 dm

A = 310,8 dm2

2.

6
h
m

9 hm

2
,8

h
m

9 hm

8,7 hm

P = 26,8 hm

A = 38,28 hm2

3.

19,8 dm

20
d
m

11,7 dm

20
d
m

18
,4

d
m

P = 71,5 dm

A = 289,8 dm2

4. 8,4 dm

11,4
d
m

3,2 dm

11
,4

d
m

10,8
d
m

P = 34,4 dm

A = 62,64 dm2

5.

8
h
m

25,9 hm

20
h
m

25,
9 hm

23,8 hm

P = 79,8 hm

A = 333,2 hm2

6. 3,9 km

5,
2
k
m

6,3 km

5,2
k
m

5
k
m

P = 20,6 km

A = 25,5 km2

MathsLibres.com


